Vypocéitej: Scitani s prechodem pres desitku

(5) 36+5= 87 +4 = 38+5= 28+4 =
84 +7 = 59 + 7 = 44 + 7 = | 48 + 7 =
68+5=  46+5= 76+8= = 56+7=
354+9= 58 +7 = 64 +8 = 7348 =
66 + 6 = 62 +9= 79+ 3= 78+ 5=

(6) 88+9= 64 +9 = g4 4T7="0 . "364+9=
76 + 9 = 56 +8= 37 + 6 = . 38+8=
64 + 8 = 68 +7 = 26 + 8 = 24 4+ 7 =
37 +8= 27 +5= 19 +3= 67 +9 =
25+ 8= 87 +4 = 89 +7= 59 +5=
66 + 9 = 78 +9= 57 + 9 = 26 + 5 =

Docitej: |

a) 19+ =21 84+ =91 48 + =56 77+ =82
19+iii=08 47+ =82 87 + i =00 89+ =96
27+ =34 39+ =48 67+ =76 59+ =64
88+ =96 58+ =63 57 + =61 69+ =75
76+f8-85  2p+li=d4s  a7+liids’  f94lli-90

b) 29+ =31 24 + =33 79+ =82 13+ =22
49 + =53 78+ =84 OF i =31 59+ =66
36+ =44 18+ =26 48 + = =53 64+ =73
76+ =81 68+ =78" < o7+ii-43 a7+ =5
56+ =62 38+ =42 79+ =88 28 +. =34

26 + = 33 58+ =61 19 + =24 23+ =3l

--------------------

Nemas—Ii tam -Chybic"lcu, vybarvi si kosticku. 23



